KENDRIYA VIDYALAYA SITAPUR SHIFT 1
UNIT TEST 2(2023-24)
GEOGRAPHY XI
TIME 90 MINUTES MM. 40
Q1. The geographical phenomena is:- (1)
(A) Dynamic  (B) Static (C) Both (D) None of them
Q1. Himforr gea §-

(A) aifaeiter (B) AR (C) @t (D) 34 & &S A& (1)
Q2. Geography as discipline is concerned with:- (1)
(A) What (B) Where  (C) Why (D) All of them
Q2. T HRMHA & & H PNl &1 Fau AeFafaf@a @ &:- (1)
(A)oar  (B)dE  (C)Ft (D) & @9
Q3. The physical geography is linked with:- (1)
(A) Meteorology (B) Pedology (C) Geomorphology (D) All of them
Q3. #ifas e o Fdau [Aeafafad & §:- (1)
(A) Ftad fasa (B) Ustaisht (C) H-3pid fae (D) T o
Q4. The systematic and regional are major approaches Study....? (1)
(A) History (B) Geography (C) Geopolitics (D) All of them
Q4. gafeyd vd & 3T & gAW TRHT E...? (1)

(A) sfaera (B) sliel (C) 3RS (D) & @aft
Q5. Consider the following statement and choose the correct option for the same ?(1)

(I) Economic geography studies economic activities of the people.

(1) Agriculture industry, tourism trade and transport, Infrastructure and services
are main topics of economic geography.

Option:-

(A) Only 1is correct

(B) Only 2 is correct

(C) Both are correct

(D)Both are correct and 2 is not correct explanation of 1

Q5. fAFfafld daa W e & 3R sad fov @8 Reey g4 & ? (1)

(1) 3nfder aEner oo & e afafafat &1 gz & §
(1) P 3T, e R 3R aiaed, gAardr erar 3R dard 3 spie & g fava &

ey -
(A) paer 1 | &
(B) dharer 2 TR &
(C) gt |er &
(D)eraT T & 3R 2,1 7 T carear A9 &

Q6. Indian drainage system is divided on the basis of discharge of water is:- (1)
(A) The Arabian Sea drainage
(B) The Bay of Bengal drainage
(C)BothA&B
(D) None of them

Q6. ARAT ST [T Uotmel &l STl & [aded & 3MUR W asnfora foear m=am &:- (1)
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(A) 3RT AR STl fABrEr
(B) FoTrer hr @E T B
(C)A 3R BaEt

(D) g1t & IS

Q7. Which Indian river is know as sorrow of Bihar:-
(A) Ganga (B) Kosi (C) Yamuna (D) Gagra
Q7. 78 ARAT AGT & [ER &1 M Sl SAam §:-
(A) 379 (B) @pIEY (C) T\ (D) ©TeRT

Q8. The Shyok, the Gilgit, the Zaskar, the Hunza, the Nubra are the tributaries of
Which river?
(A) Indus  (B) Satluj (C) Brahmaputra (D) All of them

Q8. 231, TR, e, §ofl, o Tohereht AT & Feras Afear €2

(A) oy (B) Tl (C) srETgT (D)X @

Q9. Consider the following and choose the correct answer from the given

Option:-

(I) The Himalayan drainage system has evolved through a long geographical

History

(I1) since Himalayan rivers are fed Both by melting of snow and precipitation,

Rivers of this system are Perennial.

Options:-

(A) Only statement 1 is correct

(B) Both statement are correct

(C) Only statement 2 is correct

(D) Both the statement are incorrect.

Q9. fArafafla Reey W R wX 3R G 7w & & @& 3¢ g

(1)

(1)

(1)

(1)

(1)

(1)

(1) feemmerdt STet fAerelt gomel veh Sl sfaere siamfoe arm & @regw @ fdd g ¢

(1) Sfp R &7 afeat ot & fEed 3R au aat & IR @ &

=g yomel f AT argaAr
ey -

(A) haoel HAT 1 TE &

(B) QX HUT TEN &

(C) hael HYUT 2 TEl &

(D) et HUS eI B

Q10. Consider the following statement and choose the correct option for the Same .

(1) The Kashmir Himalayas are famous for Karewa formations.

(1) The Karewa formation are useful for the cultivation of Zafran.
Option:-

(A) Only 1 is correct

(B) Both 1 and 2 are correct

(C) Only 2 is correct

(D) Both are incorrect

Q10. AFIf@d YT W AR & 3R & fow @@ Aheu g @@ |

(1) IR RATIT BT T3 & fow uldg &l
(1) AT TIIAT TR HT Gl & forw sggeh g1
ey -
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(A) el 1 &R &
(B)1 3 2 =t & ¥
(C) et 2 |ET ®
(D) &t aTerd §

Q11. Read the following paragraph and choose right answers. (3)
There are three stages in the evolution of the present atmosphere. The first stage is marked by the
loss of primordial atmosphere. In the second stage, the hot interior of the earth contributed to the
evolution of the atmosphere. Finally, the composition of the atmosphere was modified by the living
world through the process of photosynthesis. The early atmosphere, with hydrogen and helium, is
supposed to have been stripped off as a result of the solar winds.

(1) which gasses were found in the early?

(1) Which process modifies the composition of the atmosphere in the final stage

of atmosphere?
(111) How many stages of evolution of atmosphere?
w11, fRrafafla sgese ud 3R a8 3@ g1 3)

TAAT ATATEROT & fJpra # A aROT §| gger @oT Alford ardreler & ¥ o § RAfed & g
WO A, gl & M 3dAie W7 F argFHsH & e # A 7T 3iad:, wwrer FEwor hir
Ufshar & ATCIH § S STd §RT argHSeT &l FIAT & HMTAT Fehar arm| THT AT ST ©
for G gai3it & gRUmETEawy gEsre 3R &fores arer uRffe araraRoer ag @ I=3m a7

(I) T ugel Bl O A org Sy ofi?

(1) argFser & 3fdaH ToT # fohd Ufhar & argaHse I T Bl MRS

forar?
(INyargFsa & fera & fhder aeard &2

Q12. Firstly life on the Earth was originated in:- (1)
(A) Water  (B)Air (C) Land (D) All of them
UH12. g2 W HGH Ugdd Side @ 3cufd gs:- (1)
(A) STeT (B)arg (C) Hf& (D) 3 |
Q13. Which one of the following experts gave the Nebular hypothesis? (2)
(A) Immunal Kant  (B) Laplace (C) Chamberlain (D) Edwin Hubble.
Q13. fArafei@d # ¥ frH fAdus A Ager gR&euaT &r? (1)
(A) 3FgTeT ®ic (B) el (C) TFeReld (D) wefda &adl|
Q14. What was the name given to the massive ocean by Wegener ? (1)
(A) Pangaea (B) Panthalassa (C) Angaraland (D) Gondwanaland
U414, AR gRT TALATT ATANR Dl &A1 ATH &I 911 A1? (1)
(v) dfear (&) Yuremar () 3RS (&) viisarrels
Q15. Which one of the following is not a miner plate? (2)

(A) Nazca (B) Arabia (C) Philippines (D) Antarctica
gy 15. Aeafai@a d @ ala @ AR e J9 &2 (1)

(A) AT (B) 3R (C) fpelidia (D) 3icTdhfeaT
Q16. Which strait separates India from Sri Lanka? (1)
(A) Palk strait (B) strait of Hormz (C) Bering strait (D) Malacca strait
Q16. Pl &Y TASHATALT ART B Heihl T el IRl &7 (1)

(A) UTh STISHETHLT (B) BdeT STosA®HAT (C) NI STelsasaey
(D) FHelaehT STASHEHET
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Q17. The northern part of India lies In the:-

(1)

(A) Tropical zone (B) Temperate zone (C) Torrid zone (D) None of them

Ql7. 9Rd & 398 amr g - (1)
(A) souTchfead & (B) ffAISoT 813 (C) 3501 whfedy (D) 38 & P el

Q18. The river Kaveri flew through:-
(A) Madhya Pradesh, Maharashtra and Gujarat
(B) Bihar, Udisha and West Bengal
(C) Madhya, Pradesh Gujarat and Rajasthan
(D) Karnataka, Kerala and Tamil Nadu

UA718. HIAT AGT fheT Tl A AT TocT &7
(A) #ALT weRr, FERTE AR IR
(B) foerR, 3fgem 3R uffar demrar
(C) FLT, TS IR 3 TSTEATH
(D) FeATes, wa AR afreErg

Q19. The river BrahmaPutra is well known for its
(A) Floods  (B) Channel shifting  (C) Bank Erosion (D) All of them

U4719. SIEIgT A8 fras o ol ¥ (1)
(A) a1e (B) ¥ fATEa (C) ¥ wera (D) T A

Q20. What are the three major zones of northern plains from north to south?

Q20. 300 #Hald & 3R ¥ A0 deb did Y@ & Hid d &2 (3)

Q21. Explain about the Evidence in support of continental drift theory?

U221, AT s Rgiad & gaAda & ey & IR A gare?

Q22. Define Earthquake? What are the types of Earthquake?
TH22. U D TRHATRIT A2 U fohdal TR & aid &2

Q23. What are the Main Features of Peninsular plateau ?

Q23. UG TR i qEg fadudrd & §?

Q24. Plot the following on the map of India.

(A) Yanam (B) Lohit River (C) Sabarmati
ga24. Reafaf@a & oRa & JAafeT ) mef@a &)
(A) TAH (B) ehfed Y (C) TTeRAIT
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